ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE

PRODUCT NAME / NUMBER(S) :185-S864SL-910
Description : Desk w/ 1 Drawer

SCOTT llll

,‘.,‘_i"i“:qLI".f'ING‘

BY DREEW & JONATHAN

é

:

o

4

® ®

x1 Desk x1 Front Legs Left % x1 Front Legs Right % x2 Back Legs *

x1 Bureau x1 Pattes avant gauche x1 Pattes avant droitet X2 Pattes arrieres
/ .

® ®

x1 Back Stretcher % x2 Side Stretcher 9% x8 Hex nut 12*12*6mm * x8 Lock washer @5/16"*13*2mm *
x1 Civiére arriére X2 Civiére latérale x8 Ecrou hexagonal 12¥12*6mm x8 Rondelle de blocage @5/16"*13*2mm

— G
© ® @

x8 Flat washer @5/16"*19*2mm * x1 Open wrench M12*L90mm & x6 Wood Screw #8*40mm *
x8 Rondelle plate @5/16"*19*2mm x1 Clé a fourche M12*L90mm X6 Vis a bois #8*40mm

Replaceable part

Assembly Instructions-Instructions d’assemblage

Page 1 0f 2 Made in VietNam / Fabrique en VietNam.



i . ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE
SCOTT ﬁl\iﬁ LIVING
PRODUCT NAME / NUMBER(S) :185-S864SL-910

BY DREW & JONATHAHN Description : Desk w/ 1 Drawer

STEP 1
ETAPE 1

Ny

STEP 2
ETAPE 2

Replaceable part

Assembly Instructions-Instructions d’assemblage
Page 2 of 2 Made in VietNam / Fabrique en VietNam.



